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Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.

1 2) y<-2x+3
1) y>—5x—2 )
y>—-—Xx-1
5 3
y>——X+2
2 A
J
N
\ 5
\¢ :
™~ s}
- .
-
;\ R 1
\ P . S
1\ S5 43220 1\ 3 4 57
e > T
-5 4'~3 -2 -10 \ 2 3 4 5 . \\
- -
g \ -3 = «
\\ -
-3 ‘~\. R 4 L
. \ 3. -5
NI
N4
1 1
3) y>—x-2 4) y<—x-1
3 3
2 1
y<——Xx+1 y>—Xx+3
3 3
N N
5 5
~ ,—”
>3 4 4 -
Y -
-~ ~ AL~
~ > _—’e
\\ o) 1o- - o)
~ -
The 1
ya b N ya ~
S5 4 3 2 10 1 ™3 4.-57 S5 43210 304 57
_—”’ N "
:2 - \\ )
- -
- 3 -3
C 4 4
-5 -5
A4 A4




5) x>1 6) y>-x+1

y<—x-2 1
y>—x-2
A 2
5
N
4 »)
3 .
4
2 3
1 5
2 AN
N5 4 3 SN-10 2 3 4 57 1
2 AN
N S5 4 -3 2 -10] 1 4 57
-3 L,
-4 -3
-5 A
-4
A4
5
A\
8) y<—x+3
7 >—X-3
)y y=23x-1
N
<_=
y< 3x+3 .
4
N 3
3N
\ S >
\;
1
> Z / N
2 \ S5 o4 3 2 1ol 1 34 7
\
1
Z \ S _/
N5 4 3 2 10 1\345’ 3
-- -4
:3 I‘—”— -5
- A4
S S \
L . \
A4




ID: 3
Algebra 1 Name

Assignment Date Period
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Sketch the solution to each system of inequalities.
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Algebra 1
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Sketch the solution to each system of inequalities.
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1) y>-2x-1
y>2x+3

2
3)y>—§x+1

> -%x 2
y= 3

— N W B

ya

Y5 4 -3 -2 -10

-2
-3
-4
-5

N

ID: 6

Period

Name

Date
2) y< -lx 3
2
y<2X+2

N
5
4
3
2
1

N4
1
4) y>——x+2
3
< -ix 2
y 3
N
5
4
3
2
1

ya

Y5 4 -3 -2-10

-2
-3
-4

-5
A4




5) y>-x-2 6) y<2
y>—4x+1 y>3x—-1
N N
4 4
3 3
1 1
2 AN 2 AN
S5 43 -2-10 1 2 3 4 57 S5 4 3 2 -10] 1 4
-3 =3
4 4
-5 =5
A4 A4
7) y<5x+3 8) y>-—x-2
y>x—-1 1
y<—X+2
N 3
5
N
4 J
3 4
2 3
1 5
2 AN
S5 43 -2-10 1 2 3 4 57 1
2 AN
N S5 43210 1 e
-3 .
-4 3
-5 A
-4
A4
-5
A\




ID: 6
Algebra 1 Name

Assignment Date Period

Sketch the solution to each system of inequalities.

1) y>-2x-1 2) y< lx 3
y=>2x+3 y 2
XN y<2X+2
> N
4 5
3 Jd 7
/
37
1 )
4 N
S5 4 -3 1 12 3 4 57 h
4 AN
. Ss 432410 1 2 3 4 57
-3 ‘\\/\ )
- / T3RL
-5 s
A4 ‘.\
/ =5
N4
2 1
3) y>——x+1 4) y>——x+2
3 3
y > 2x 2 y 5x 2
>——X- <——X-—
3 3
N N
5 \ 5
o . \ .
\\\ \ — \ A
. N~
\\ o) \
~ \ S~
NG The O
yi Y N yi N ~ 3
s 4 N -10] 1 ™3 4 s T S5 4320 12 3 4 57
N ~d \
- b
> < -
N \
-3 -3
N \
-4 —4 \
-5 ™~ -5 \
N4 N4




5 y>-—x-2
y>—4x+1

L,

7) y<5x+3
y>x—-1

&
—
N

-5 -4 -3 2 -lfo[,71 2 3 4

A\ %4

6) y<2
y>3x—-1
N
5
4
g/
1
2 / AN
Y5 4 32 10/ 1 2 3 4 57
3
4
-5
A4
8) y>-—x-2
1
y<—X+2
3
N
pJ
4
3 e
N Pt
N “__—‘
Bebd !
paid ~ N
S5 4 3 10 1 2 3 4 57
\
pS
\
_3 =
; N
4 <
\
5
A\




Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.

4
1) y<—§x+1

1
>——X-2
y 3
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Y5 4 3 2 10
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3) y>—x+3
y>Xx+1
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2) y>—lx—1
2
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5) y<-4x+1

y>-x-2

W

N

7)

y<3x+1
y>-—x-3
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w

A\ %4

A\ %4

5
6) y>—x+2
3
<lx 2
Y 3
N
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8) y>-2x-1
y>-2x-2
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Algebra 1 Name

1D: 10

Assignment Date

Period

Sketch the solution to each system of inequalities.

4 1
1) y<——x+1 2) y2-——x-1
3 2
1 y<—=2X+2
y>—-——X-2
3 A
N \
5 4
\ A \3
\
. N
\ X \
%N
N\ ya \ S
1 S5 o4 03 o> M2 o3 o4 57
SSed 3 210 Y 2 3 4 57 .
~‘o \
“_s \ -3 \
Sl i \
-3 AR —4 \
A N -5
—4 N
\ v
-5
N4
3) y>—x+3 1
4) y<——x-2
y>x+1 2
4N y>-2x+1
\ j ’ N
N ’ 5
b vd
T \
N 3
}I \\ \ﬁ
s / Al N\ \
S5 43 2,710 1 2 384 57 '
N & N
.’ , . Ssoarsa 2 1oV 2 3 4 57
, _
4
-3 N \
/
V4 —4 a
-
-5 —4 \
v \
-5
A4




5) y<-4x+1
y>-x-2
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